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1303 

B.Com. (First Year) EXAMINATION, 2018 

A. B. S. T. 

Paper -I    

FINANCIAL ACCOUNTING 

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k¼[k¼[k¼[k.M & l½.M & l½.M & l½.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A@@@@[k.M[k.M[k.M[k.M& v& v& v& v    

UNIT –I@@@@bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.1 (i) What is convention of conservatism? 

  :f<+okfnrk dh ijEijk D;k gS\ 

 (ii) Discount allowed to a customer is  ` 300 but credited to his a/c only ` 150. The 

rectification entry will be? 

  ,d xzkgd dks ` 300 dk cÍk fd;k x;k rFkk mlds [kkrsa esa `150 gh ØsfMV fd;s 

x;sA bldh lq/kkjkRed izfof"V gksxh\ 

UNIT –II@@@@bdkbZ bdkbZ bdkbZ bdkbZ – II  

 (iii) State any two objectives of providing for depreciation. 

  ewY; ºkl izko/kku ds dksbZ nks mís’; fyf[k,A 

 (iv) Unsold stock with consignee at end was ` 20,000. Give entry in books of 

consignor to record it. 

  ,d izs"k.kh ds ikl fcuk fcds eky dk LVkWd ` 20]000 FkkA izs"kd dh iqLrdksa esa 

bldh izfof"V nhft,A 

UNIT –III@@@@bdkbZ bdkbZ bdkbZ bdkbZ – III 

 (v) State any two basic differences between R/P a/c and I/E a/c. 

  vk;&O;; [kkrs ,oa izkfIr Hkqxrku [kkrs esa dksbZ nks vUrj crykb;sA 

 (vi) What is indemnity period in claim? 

  nkosa esa {kfr iwfrZ vof/k dk vk’k; D;k gS\ 
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UNIT –IV@@@@bdkbZ bdkbZ bdkbZ bdkbZ – IV 

 (vii) Name the accounts to be opened under stock and debtors method of Branch 

accounting.   

  'kk[kk ys[kkadu dh LVkWd ,oa nsunkj fof/k esa [kksys tkus okys [kkrksa ds uke 

crykb,A 

 (viii) What is right of recoupment of short working?  

  y?kqdk;Z jkf’k olwyh ds vf/kdkj ls D;k vk’k; gS\ 

UNIT –V@@@@bdkbZ bdkbZ bdkbZ bdkbZ – V 

 (ix) A and B share profits in 4:3. They admit C for 2/7
th

 share. C receives his share 

equally from A and B. Calculate new profit sharing Ratio.   

  ^v^ rFkk ^c^ 4%3 ds vuqikr esa ykHk foHkktu djrs gSaA os ^l^ dks 2@7 fgLls ds fy, 

izos’k nsrs gSA ^l^ viuk fgLlk v rFkk c ls cjkcj&cjkcj izkIr djrk gSA u;k ykHk 

foHkktu vuqikr dh x.kuk dhft,A 

 (x) Name the methods which are used for piecemeal distribution of cash, on 

dissolution.   

  lekiu ij udn ds mfpr forj.k gsrq mi;ksx esa yh tkus okyh fof/k;ksa ds uke 

crykb,A 

PART – B@@@@[k.M[k.M[k.M[k.M& & & & cccc    

UNIT –I@@@@bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 The trial balance of Mr. Arora on 31. 12. 2014 did not agreed, the difference was put 

in suspense account. On going through books, you find that: 

 (i) ` 5400 received from Mr. Rajiv was posted to the debit of his account. 

 (ii) ` 1000 being purchase returned were posted to the debit of purchase account. 

 (iii) Discount of ` 2000 received were posted to the debit of discount received 

account. 

 (iv) ` 2740 paid for repairs to Motor car was debited to motor car a/c ` 1740. 

 (v) `4000 paid to R. Sanjay Das debited to S. Sanjay a/c. Give Journal entries to 

rectify the above errors, and find out difference put in suspense a/c, assuming 

that suspense a/c is balanced after above rectifications.       
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 31-12-2014 dks fe- vjksjk dk ryiV ugha feyk ,oa vUrj dh jkf’k mpUrh [kkrs esa Mky nh 

xbZA iqLrdksa dh tkap djus ij vkidks Kkr gksrk gS fd% 

 (i) jktho ls izkIr 5]400 `] mlds [kkrs esa MsfcV esa fy[ks x;sA 

 (ii) 1000 ` dh Ø; okilh dks Ø; [kkrs ds MsfcV esa [krkSuh dj nh xbZA 

 (iii) 2000 ` dh cêk izkfIr dks izkIr cêk [kkrs ds MsfcV esa [krkSuh dh xbZA 

 (iv) dkj dh ejEer ds 2740 ` pqdk, ftls eksVj dkj [kkrs ds MsfcV esa 1740 ` fy[kk 

x;kA 

 (v) vkj- lat; nkl dks pqdk, x;s] 4000 `] ,l- lat; ds [kkrs esa MsfcV fd;s x;sA 

  mi;qZDr =qfV;kas ds lq/kkj gsrq izfof"V;ka nhft, rFkk mpUrh [kkrs esa gLrkUrfjr jkf’k 

;g ekurs gq, Kkr dhft, fd lq/kkjksa ds ckn mpUrh [kkrk cUn gks x;kA 

OR@@@@vFkokvFkokvFkokvFkok 

Q.3 Write notes on following: 

 (a) Develop an accounting equation taking five imaginary transactions. 

 (b) Trial Balance.    

 fuEu ij fVIif.k;ka fyf[k,% 

 ¼v½ ik¡p dkYifud ysunsu ysdj ,d ys[kk lehdj.k cukb,A 

 ¼c½ ryiV 

UNIT –II@@@@bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 Write short notes on following: 

 (a) Causes and objectives of depreciation. 

 (b) Self Balancing ledgers. 

 fuEu ij lkaf{kIr fVIif.k;ka fyf[k,% 

 ¼v½ ewY; âkl ds dkj.k ,oa mís’; 

 ¼c½ Lodh; lUrqfyr [kkrk cfg;ka 
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OR@@@@    vFkokvFkokvFkokvFkok 

Q.5 ‘A’ and ‘B’ enter into joint venture to purchase and sell of second hand scooters. 

They decided to share profits and losses in the ratio of 3:2. B sent ` 50,000 to ‘A’ 

for joint venture. ‘A’ purchased 20 scooters for ` 90,000 and spent ` 10,000 for 

repairs. Scooters were sent to ‘B’ for sale. On receipt of scooters ‘B’ paid ` 800 for 

freight and ` 1,500 for octroi. ‘B’ sold all scooters through broker for ` 1,40,000. He 

paid ` 5,000 for brokerage and ` 2,000 for selling expenses. ‘B’ gets commission @ 

5% on sales. Final settlement was made between the co – ventures. Prepare 

memorandum joint venture A/c from above information.     

 ^v^ ,oa ^c^ ,d la;qDr lkgl esa iqjkus LdwVjksa ds Ø;&foØ; ds fy, lfEefyr gksrs gSaA os 

ykHk&gkfu dks 3 % 2 ds vuqikr esa ckaVus dk fu’p; djrs gSaA ^c^ us l;qaDr lkgl ds fy, 

^v^ dks 50]000 ` HkstsA ^v^ us 20 LdwVj 90]000 ` esa [kjhns rFkk ejEer ij 10]000 ` O;; 

fd,A LdwVjkas dks cspus ds fy, ^c^ dks Hkst fn,A ^c^ us LdwVjksa dh izkfIr ij 800 ` HkkM+k 

,oa 1500 ` pqaxh ds pqdk,A ^c^ us lHkh LdwVj nyky ds ekQZr 1]40]000 ` esa csp fn,A 

mlus nykyh ds 5000 ` rFkk foØ; O;; ds 2000 ` Hkqxrku fd,A ^c^ dks fcØh ij 5% 

deh’ku fn;k tkrk gSA nksuksa lkgfl;ksa ds chp vfUre Hkqxrku iw.kZ dj fy;k x;kA bu 

lwpukvksa ls Lej.kkFkZ la;qDr lkgl [kkrk cukb;sA  

UNIT –III@@@@bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 Explain the following: 

 (a) Procedure to calculate claim under loss of stock policy. 

 (b) R/p a/c v/s I/E a/c. 

 fuEu dks Li"V dhft,% 

 ¼v½ LVkWd dh gkfu ikWfylh esa nkok fu/kkZj.k dh izfØ;k 

 ¼c½ izkfIr Hkqxrku [kkrk cuke vk; & O;; [kkrk 
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OR@@@@vFkokvFkokvFkokvFkok 

Q.7 Mr ‘P’ purchased a T.V. from D ltd. on hire purchase system on 1.4.2012 particulars 

of which are as under: 

 Cash price  `  10,000  

 Down payment `   4000 

 ` 2000 + interest payable in three annual instalments, interest payable is 5% p.a. on 

outstanding balance. Depreciation is charged @ 10% p.a. on fixed instalment basis, 

prepare D ltd. a/c and T.V. a/c in the books of Mr. P. Give workings.   

 ,d vizSy 2012 dks feLVj ih- us Mh- fyfeVsM ls fdjk;k Ø; i)fr ls ,d Vh- oh- Ø; 

fd;kA ftldk fooj.k fuEu izdkj gS% 

 jksdM+ ewY;  ` 10]000 

 rqjUr Hkqxrku `   4000 

 2000 ` $ C;kt rhu okf"kZd fd’rksa esa ns; 

 vnÙk jkf’k ij 5% C;kt fn;k tk;sxk 

 LFkk;h fd’r fof/k ls 10% dh nj ls âkl yxsxkA 

 feLVj ih- dh iqLrdkas esa Mh- fyfeVsM dk [kkrk ,oa Vh- oh [kkrk cukb;sA vko’;d fVIi.kh 

nhft,A 

UNIT –IV@@@@bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Gupta brothers of Jaipur have branch at Jodhpur and they charge all goods sent to 

branch at cost plus 25%. It is arranged that all cash received by branch is to be 

deposited at their bank account at Jodhpur. All branch expenses are to be paid by 

head office. From following information; prepare branch account in head office 

books for the year ending 31.3.2015.     
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 Stock at branch 1.4.2014        45,000 

 Goods sent to branch              3,00,000 

 Cash sales                2,25,000 

 Credit sales               1,62,500 

 Cash received from debtors       75,000 

 Goods returned by branch        75,000 

 Sales return            7,500 

 Discount to customers          3,500 

 Bad debts              1,500 

 Branch rent, taxes         12,000 

 Other expenses          18,000 

 Branch debtors 1.4.2014        37,500 

 Branch debtors 31.3.2015     1,12,500 

 Stock at branch 31.3.2015    

 t;iqj ds xqIrk cznlZ dh 'kk[kk tks/kiqj esa gSA os 'kk[kk dks Hksts x;s lHkh eky dk ewY; 

ykxr $ 25% ij yxkrss gaSA ;g O;oLFkk gS fd 'kk[kk }kjk izkIr leLr jksdM+] tks/kiqj esa 
muds [kkrs esa tek dh tk,A 'kk[kk ds lHkh O;; iz/kku dk;kZy; }kjk Hkqxrku fd;s tkrs 
gSaA fuEu lwpukvksa ls 31-3-2015 dks lekIr gksus okys o"kZ ds fy, iz/kku dk;kZy; dh 
iqLrdksa esa 'kk[kk [kkrk cukb,% 

                ` 

 'kk[kk ij LVkWd 1-4-2014        45,000 

 'kk[kk ij Hkstk eky              3,00,000 

 udn fcØh                2,25,000 

 m/kkj fcØh                1,62,500 

 nsunkjks }kjk izkIr jksdM+        75,000  

 'kk[kk }kjk ykSVk eky         75,000 

 fcØh dh okilh            7,500 

 xzkgdksa dks NwV            3,500 

 Mwcr _.k             1,500 

 'kk[kk fdjk;k] dj         12,000 

 vU; O;;           18,000 

 'kk[kk nsunkj 1-4-2014         37,500 

 'kk[kk nsunkj 31-3-2015     1,12,500 

 'kk[kk ij LVkWd 31-3-2015        55,500   
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OR@@@@vFkokvFkokvFkokvFkok 

Q.9 Write short notes on: 

 (a) Apportionment of various expenses while preparing departmental accounts. 

 (b) Recoupment of short working and its treatment.     

 fuEu ij laf{kIr fVIif.k;ka fyf[k,% 

 ¼v½ foHkkxh; ys[ks cukrs le; fofHké O;;ksa dk vuqHkktu 

 ¼c½ y?kqdk;Z jkf’k dh olwyh ,oa bldk ys[kk 

UNIT –V@@@@bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 A and B are equal partners. Their B/s as on 31.3.2015 is as follows: 

 

B/s as on 31.3.2015 

Liabilities ` Assets ` 

Creditors 14,000 
Cash 

Debtors            30,000 
6,000 

P & L a/c 6,000 Less provision   1000 29,000 

Capitals :  Stock 15,000 

A 30,000 Building 20,000 

B 20,000   

 70,000  70,000 

 

 ‘C’ is admitted for 1/3 share on 1.4.2015 subject to the following conditions: 

 (i) ‘C’ will bring in cash ` 30,000 for capital and ` 20,000 for goodwill. 

 (ii) Half amount of goodwill will be withdrawn from the firm by old partners. 

 (iii) Provision on debtors will be maintained at 5%. 

 (iv) Value of stock be reduced by 10% 

 (v) Value of building be increased by 50% 

 (vi) ‘B’ will bring cash to make his capital equal to that of ‘A’. 

  Give necessary entries in the journal of firm. 
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 ^v^ ,oa ^c^ leku lk>snkj gSaA 31-3-2015 dks mudk fpV~Bk fuEu izdkj gS%   

 1-4-2015 dks ^l^ dks 1@3 Hkkx ds fy, QeZ esa fuEu 'krksZ ij izos’k fn;k x;k% 

B/s as on 31.3.2015 

nkf;Ro jkf’k  ` lEifÙk jkf’k  ` 

ysunkjs 14,000 
jksdM+ 

nsunkj            30000 
6,000 

ykHk @gkfu [kkrk 6,000 ?kVk izko/kku   1000 29,000 

iwath &  LVkWd 15,000 

v 30,000 Hkou 20,000 

c 20,000   

    70,000  70,000 

 

 (i) ^l^ viuh iwath ds fy, 30000 ` rFkk [;kfr ds fy, 20]000 ` udn yk;sxkA 

 (ii) [;kfr dh vk/kh jkf’k iqjkus lk>snkj QeZ ls fudkysaxsA 

 (iii) nsunkjksa ij vk;kstu 5% rd j[kk tk,A 

 (iv) LVkWd dk ewY; 10% ls de fd;k tk,A 

 (v) Hkou dk ewY; 50% ls c<+k;k tk,A 

 (vi) ^c^ viuh iwath ^v^ ds cjkcj djus gsrq i;kZIr jksdM+ yk;sxkA 

  QeZ dh tuZy esa vko’;d izfof"V;k¡ nhft,A  

OR@@@@vFkokvFkokvFkokvFkok 

Q.11 Describe the problems and their settlement on retirement of a partner.  

 lk>snkj ds vodk’k xzg.k djus ij mRiUu gksus okyh leL;k,a rFkk mudk lek/kku dk 

o.kZu dhft,A 

PART – C@@@@[k.M[k.M[k.M[k.M& & & & llll 

Q.12 Write a note on various concepts and conventions of accounting.  

 ys[kkadu dh fofHké vo/kkj.kkvksa ,oa ijEijkvksa ij ,d fVIi.kh fyf[k,A 
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Q.13 Mr. A of Bhartpur consigned 10000 Kg. of oil to Mr. B of Bhilwara. The cost of oil 

was ` 18 per kg. Mr. A paid ` 5000 as freight and insurance. 300 Kgs of oil was 

accidentally destroyed during transit. Mr. B received ` 5500 from the insurance in 

full and final settlement. Mr. B took delivery of oil and sold 8000 Kgs @ 20 per kg. 

He paid ` 1500 for cartage, ` 1000 for godown rent, `1200 for advertisement. Mr. B 

is entitled to a commission of 3%. Mr. B informed that 200 kgs of oil was lost due to 

leakage. Mr. B paid the amount due by bank draft. The balance of oil was in stock 

with Mr. B on 31.3.2015 when the books of Mr. A were closed. Give the necessary 

accounts in the books of both the parties.       

 “jriqj ds ^v^ us 10000 fdyks rsy HkhyokM+k ds ^c^ dks izs"k.k ij HkstkA rsy dh ykxr 18 
` izfr fdyks FkhA ^v^ us 5000 ` HkkM+s rFkk chek ds pqdk,A 300 fdyks rsy nq?kZVuk ds 
dkj.k ekxZ esa u"V gks x;kA ^c^ dks chek daiuh ls 5500 ` iw.kZ ,oa vfUre Hkqxrku ds :i 
esa izkIr gq,A 

 ^c^ us rsy dh lqiqnZxh yh rFkk 8000 fdyks rsy 20 ` izfr fdyks dh nj ls cspkA mlus 

1500 ` xkM+h HkkM+k 1000 ` xksnke fdjk;k rFkk 1200 ` foKkiu ds pqdk,A ^c^ 3% 
deh’ku ds fy, vf/kÑr gSA ^c^ us lwfpr fd;k fd 200 fdyksxzke rsy fjlus ds dkj.k 
u"V gqvkA ^c^ us cdk;k jkf’k dk Mªk¶V ls “qxrku dj fn;kA ^v^ dh iqLrds cUn djrs 
le; 31-3-2015 dks 'ks"k rsy ^c^ ds ikl LVkWd ds :i esa gSA nksuks i{kksa dh iqLrdksa esa 
vko’;d [kkrs nhft,A 

Q.14 Following is the trading A/c of V.R. Ltd. for the year ending 31.3.2015 

Trading Account 

 `  ` 

To opening stock 44,240 By sales (Net) 98,000 

To purchases (Net) 68,470 By closing stock 29,410 

To Gross profit 14700   

 1,27,410  1,27,410 

 A fire occurred at the warehouse of company on 30.6.2015 and large proportion of 

stock was destroyed. The salvage stock amounted to ` 2000. The stock was fully 

insured against fire risks. 

 Sales for the period ending on 30.6.2015 were ` 54000. The amount paid for 

purchases was ` 44000 including a cheque of ` 400 which was not presented to the 

bank upto 30.6.2015. Books of company revealed that trade creditors on 31.3.2015 

were ` 12,000 and on 30.6.2015 ` 10750. Goods costing ` 3190 were returned to 

creditors during the period ending 30.6.2015. 

 You are required to find out the amount of claim to be lodged with insurance 

company. 
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 31-3-2015 dks oh- vkj- fy- dk O;kikfjd [kkrk fuEu izdkj gSA  

O;kikfjd [kkrk 
 `  ` 

izkjafHkd LVkWd dks  44,240 fcØh }kjk ¼’kq)½ 98,000 

Ø; dks ¼’kq)½ 68,470 vafre LVkWd }kjk 29,410 

ldy ykHk dks 14700   

 1,27410  1,27,410 

 dEiuh ds xksnke esa 30-6-2015 dks vkx yxh ftlls cM+h ek=k esa LVkWd ty dj u"V gks 

x;kA cps gq, LVkWd dk ewY; 2000 ` FkkA LVkWd vfXu tksf[ke ds fy, iw.kZ chfer FkkA   

30-6-2015 dks lekIr gksus okyh vof/k ds fy, fcØh 54000 ` jghA Ø; ds fy, 44000 ` 

dk Hkqxrku fd;k x;k] ftlesa 400 ` dk ,d pSad Hkh 'kkehy gS tks 30-6-2015 rd cSad esa 

izLrqr ugha gqvkA dEiuh dh iqLrdksa ds vuqlkj 31-3-2015 dks ysunkj 12000 ` rFkk     

30-6-2015 dks 10750 ` ds FksA 

 30-6-2015 rd 3]190 ` dh ykxr dk eky ysunkjkas dks ykSVk;k x;kA vkidks izLrqr fd, 

tkus okys nkos dh jkf’k Kkr djuh gSA  

Q.15 A firm had two departments, cloth and readymade clothes. The clothes were 

generally made by the firm itself out by cloth supplied of the cloth department at its 

usual selling price. From the following particulars, prepare departmental trading and 

P&L a/c for the year ending 31.3.2016:     

 Cloth deptt Readymade Deptt 

 ` ` 

Stock 1.4.2015 3,00,000 50,000 

Purchases 20,00,000 15,000 

Sales 22,00,000 4,50,000 

Transfer to Readymade Deptt.  3,00,000 – 

Expenses:   

Manufacturing  – 60,000 

Selling 20,000 6,000 

Stock on 31.3.2016 2,00,000 60,000 

 The stock in readymade deptt, may be considered as consisting of 75% cloth and 

25% other expenses. The cloth deptt. earned gross profit at the rate of 15% in 2014 – 

2015. The general expenses of business as a whole were ` 1,10,000. 
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 ,d QeZ ds nks foHkkx gSa] oL= ,oa rS;kj oL=A oL= lkekU;r;k QeZ }kjk Lo;a gh ml 

diM+s ls rS;kj fd;s tkrs gSa] tks fd oL= foHkkx }kjk lkekU; foØ; ewY; ij fn;k tkrk 

gSA fuEu lwpukvksa ls 31-3-2016 dks lekIr gksus okys o"kZ ds fy, foHkkxh; O;kikj ,oa ykHk 

gkfu [kkrk cukb,A 

 oL= foHkkx rS;kj oL= foHkkx 

 ` ` 

LVkWd 1.4.2015 3,00,000 50,000 

Ø; 20,00,000 15,000 

fcØh 22,00,000 4,50,000 

rS;kj oL= foHkkx esa VªkaLQj 3,00,000 – 

O;; &   

mRiknu – 60,000 

foØ; 20,000 6,000 

LVkWd  31.3.2016  dks 2,00,000 60,000 

 rS;kj oL= foHkkx ds LVkWd esa 75% Hkkx diM+k rFkk 25% Hkkx vU; O;;ksa ds :i esa 

le>k tk ldrk gSA oL= foHkkx us 2014&2015 esa 15% dh nj ij ldy ykHk dek;k 

FkkA lEiw.kZ O;olk; ds O;; 110000 ` ds FksA 

Q.16 Explain the following with example: 

 (i) Rule of garner v/s Murray in case of insolvency of a partner. 

 (ii) Maximum loss Method of distribution of cash. 

 fuEu dks mnkgj.k ls le>kb,% 

 (i) lk>snkj ds fnokfy;kiu ij xkuZj cuke eqjsZ dk fu;e 

 (ii) udn forj.k dh vf/kdre gkfu fof/kA 

----------------------------------------- 


